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1)  Round 28.51546 to the nearest 10000 || 2)  Increase 81 by /g 3)
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:
4) 17.8x 18.9 5) Find perimeter of 6)
triangle
b t  a=44m,b=77m,
ul c=79m Name the type of angle.
E|
Answer: Answer: Answer:
7) 14 x 31/, 8) 28.8x12.8 9) Find area of square
having each side (s)
s equals 100 m
s
Answer: Answer: Answer:
10) 21x 38 11) 'What isthe probability of rolling a 12) 61/, + 42l
multiple of 4.when rolling adice
Answer: Answer: Answer:

13) Find the percentage change from 2 to
3

Answer:

14)  Anamount was increased by 7.7% to
$500.00. Find the original amount.

Answer:

15) Find the range of the following set of data:
04,0,0.2

Answer:
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16) 7 138 of 276

Answer:

17)

‘Name the type of angle.

Answer:

18) Round 13.536620 to the nearest 10

Answer:

19)  Write 100000 in standard form.

20) 'What isthe probability of rolling a
number less than 4.when rolling a

21) 'What isthe probability of rolling
factors of 7.when rolling adice

dice
Answer: Answer: Answer:
22) 23) 9/¢ 24)
Find Volume of 32 Find Volume of
Cylinder Hexagonal Pyramid
/18
Answer: Answer: Answer:
25) 10/ - 8/ 26)  Write 0.3 in standard form. 27) 6.9x6.8
Answer: Answer: Answer:
28) Find the range of the following set of data: 29) Find perimeter of 30) 98+7
58,9522 square having each
s side (s) equals8 m
s
Answer: Answer: Answer:
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Answers:
1) 28,5155 2) 90 3) 13,21,34, 4) 336.42 5) 200m 6) Acute 7) 5%
8) 368.64 9) 10000m 10) 798 11) Yg 12) 1235, 13) 50% 14) $464.25
15) 0.4 16) 14 17) Right 18) 135 19) 1x 10° 20) Y/, 21) Yg
22) 1235.4313110242 23)8 24) 5050.6601548708 25) 1%/ 26) 3x 101 27) 46.92 28) 7
29) 32m 30) 14
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